2021160055 %]

W | AR}
*>> 1 + 3
ansg =

4
> 13 - 4
ans =

S
> 12 * 3
ansg =

36
== 36 f 3
ans =

12

A]
O

2]

L

XX =y
ans =

1=5 logical HHE

> R =Yy
ans =

1x5 logical HHE

[543 21]:



l1e

64

256

58]

B while &
»>>» a = 1;
»> while a < 4
a=a+ 1

end
a =
2
a =
3
a =
4
B AojE&
> a =1 b =2 2 =3;
*»> b =2
b =
2

W e A%

v

>» plot(x, ¥, '--ra', 'LineWidth', 2, 'MarkerEdgeColor’'
"MarkerSize', 10)

S eE) UME 4 gl EHe S WLEUCH
B inline

»» £ = inline {"®™34+6*x-2', '®'}):
»» £(3)

ans =

43

>>» £ = inline('=x.
> E([3 4 5])

ans =

43 g6 153



M linspace

»>» x = linspace (0, 5, &)

H plot

>> t = linspace(0, 2*pi, 100); x=2%cos{t): ¥y = 2*sin(t):
>> plot(x, ¥):

v

sigure 1 - o

(R EEE =7V HE =T H2SE0) BW ESZH

bt

ide |08 KE

2 ——— —— —————————

- [ / \\_ '

>> plot(x, y): axis sguazs;

Figure 1 - m}

iR ERE BNV HE0 =M OBZIE0 BW ESEH

dde @08 K[E

>»> plot(x, ¥); axis egual;

e = ]

BIE 27w 2Ym =M H2AIED BW EESEH

B2 0E|E

al O\ .

-l \\ ol ]

A . . ' e ey L . L L

2.5 -2 1.6 < 0.5 0 0.5 1 1.5 2 2.5

>> plot(x, y); axis image;

iB 27 HE0 =0 HE3E0) 2w =SEH

)2 88| KE

0.5 [f 1




M ones, zeroes

>> ones(3)

1 1
1 1
1 1
»> Zerosi{l)
ans =
0 0
0 Q
B length, sum, abs
PG = [Ly &y 3]
ans =
3
FroRACT [LA2.3: 4
>> sum (i)
ans =
12 15
>> abs(-3)
ans =
3

r

5

18

length (C)

6

78 9]:

M fprintf, load

»>» fp = fopen('test.m',

»> fprintf{fp, '%d %d\n',
»» fprintf(fp, '%f ¥f\n',
»» fprintf(fp, '%e %e\n',

»>» fclose (fp):

*>>» a = load{'test.m')

a _
1.0e403 *
0.0010 0.0020
0.0035 0.0045
0.1000 1.0000

M rand

>> Random matrix = rand (2,

Random matrix =
0.8147 0.1270 0.
0.9058 0.9134 0.

»> rand({'seed', 3)

>»> rand(2, 3)

ans =
0.5387 0.0512 0
0.3815 0.2851 0.

>»>» rand({2, 3)

ans =
0.3475 0.1078 0.
0.2343 0.100% 0.

>*> rand|('seed"', 3)

»>» rand ({2, 3)

ans =
0.5387 0.0512 0.
0.3815 0.2851 0

Tt };

;i 2):

3.5,
100,

3)

6324

0875

3010
1277

5765
4141

3010
1277

4,5);
1000) ;



